Al &

&

Al A

o
201549 = Z0il&h 2 ersl
S AL
& 200 Mi2ls¢
2 210 24 HM2 =8
Ej 211 Moty O =& (cte &
SA-&-2-8-.-5 Ol &4 & Ol &Y Hns
3 A 12,543,337 12,560,930 217,593
A4 12,543,337 12,560,930 A17,593
200 Al2l=+=¢l 602,640 558,640 44,000
210 ZH4 I M2+ ¢ 310,140 251,140 59,000
211 A= 39,140 39,140 0
211-02 SFMAL U= 39,140 39,140 0
OFRHAERX SUHE 39,140
212 NhE2+Y 237,000 178,000 59,000
212-07 e ¥ &+¢ 102,000 0 102,000
OEHIE =83 102,000
212-08 JIEtME E 135,000 178,000 A 43,000
OsgIIAIE SH2 A2 80,000
OIRML(ZERSE) MER 55,000
215 dxuFa+g 34,000 34,000 0
215-01 e+ 34,000 34,000 0
OctdAEss F+URS 34,000
220 SAIHH 2 +& 292,500 307,500 A 15,000
223 BHSHUWEHES 37,000 52,000 A 15,000
223-02 B3NS 35,000 50,000 A 15,000
OSEHRUAZR 22 =R HY3 15,000
OZEWSSE 22 IR Ha3 20,000
223-03 LEHZE 2,000 2,000 0
OA&gY AL WHUZ 2,000
224 J1Eh ¢ 255,500 255,500 0
224-06 121 +=¢ 255,500 255,500 0
OEEXNT 228 SSMY AN018 FE3 255,500
500 2x= 11,940,697 12,002,290 61,593
510 = 1BXxSS 10, 165,000 9,761,501 403,499
511 2 12x3S 10, 165,000 9,761,501 403,499
511-01 =212 %= 6,420,000 6,624,501 A 204,501
OUEd YHotd =dAL 2,488,000
Odiiegtd D89 2 TdAY 2,500,000
ORNGHEKFAE AL (42 =AIE) 862,000
O=INtEFNE+ A (40122l std2el) 70,000
oMes 28NS 3y 500,000
511-02 NS ASEIANEXS 3,745,000 3,137,000 608,000




2N AED
& 500 Ex3
2 1510 2DEX2ES
8 511 208E3S LD
SN-F-B-F-S 0 &k o4 IELAVPAE HZE2
OJIA& X2 HTLIAY 150,000
ORRANT =0 22 THHIIB XA 100,000
OftE2NT AT EL 300,000
OA&2X 7 =29 Z&2 T8 X3 AHY 512,000
O ZHAY DISSHIUAL (HY =25} 1,133,000
OZHA UISZHFHIAL 1,130,000
O=gti=2 ZHISA 100,000
O=HE2 M=K FHISAM 200,000
Ogel1td=Xl ZHISA 120,000
520 Al - SHIREXZS 1,775,697 2,240,789 A 465,092
521 Al - SHIEXZ=S 1,775,697 2,240,789 A 465,092
521-01 Al - EHIE XSS 1,775,697 2,240,789 A 465,092
OUEH MEiotd ZHAMY 669,997
Ootd sl (31HA) 125,000
OWPra n8ol 2 LAY 500,000
ORRANT =0 LH2 T JIHXA AL 8,000
OftE2N T AT E 2 22,500
OAG2XI 7 =2 2&= IHHole X3 A Y 38,000
O=gti==2 HUISAM 8,200
O2H2HAX HHIB A 15,000
Ogel1d=X FHISAM 9,000
OXEXNFE+Z HHISA 30,000
OWXt&E XX+ ot FHI 100,000
==& 233X+ ot EH 100,000
ONIZE AN Hbl 150,000




= A
N = 0] &F AF S & AN A
2015 &= 20l A L BHGH AH A D
EXN: A4
HE: =HI|BLAIE &EH|
e JlHS Esolet 25 (2 &HH)
- RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
a4 23,564,955 20,182,619 3,382,336
= 6,420,000
Xl 3,745,000
= 1,775,697
Al 11,624,258
SHI|BEAIAE A H| 4,465,308 2,631,582 1,833,726
Xl 1,482,000
== 130,700
Al 2,852,608
JIHE EsI|8 2= 1,354,000 669,000 685,000
Xl 1,062,000
& 68,500
Al 223,500
JAHSEBEZ SEH 214,000 189,000 25,000
Xl 150,000
Al 64,000
403 XX SHHMS K201 & 214,000 189,000 25,000
Xl 150,000
Al 64,000
02 BII2S 0 CHSHCHEH AFS I 214,000 189,000 25,000
OJIHz HE2 SHILEAS (L=3.0km) 214,000
N 150,000
Al 64,000
SN =oexS THUioIet XIS AL 125,000 180,000 A 55,000
Xl 100,000
& 8,000
Al 17,000
403 XX SHHS K20 & 125,000 180,000 A 55,000
Xl 100,000
& 8,000
Al 17,000
02 Z2J| 2t 0l CHSHCH & A HI 125,000 180,000 A 55,000
OBAXN R =92x=2 THHI DI B XK AFS (L=2
4km ) 125,000
N 100,000
&< 8,000
Al 17,000
stedokl = =2EaA XA 375,000 150,000 225,000
N 300,000
= 22,500
Al 52,500
403 XX SHHS K20 & 375,000 150,000 225,000
Xl 300,000
= 22,500
Al 52,500
02 Z2J| 2t 0l CHSHCH & A HI 375,000 150,000 225,000
Ostel2x 7 & Z X el AFY (L=6.0kn) 375,000




g )
- RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Xl 300,000
< 22,500
Al 52,500
AKX =228 &=E MMEH JIBHX &AL 640,000 150,000 490,000
Xl 512,000
< 38,000
Al 90,000
403 XX SHHS K20 ™ 640,000 150,000 490,000
Xl 512,000
& 38,000
Al 90,000
02 Z2J| 2t 0l CHSHCH & A HI 640,000 150,000 490,000
OA 2K R =9 2Z=2 THHHOI B XK AFS (L=
1.6km) 640,000
N 512,000
< 38,000
Al 90,000
sgEa 22 2,586,308 1,722,582 863,726
< 30,000
Al 2,556,308
=X ¥ sgs422 1,265,688 1,030,402 235,286
101 Q124 H| 58,464 55,922 2,542
04 JI2ZtHIZ2 2 NEE S 58,464 55,922 2,542
OM=z=X HZ &5 % EEHH A8 58,464
-3 57,5003 * 4% % 180 41,400
-S25dsY 57,500 * 49 x 40=F 9,200
- saLE 57,500& * 4¥ x 9 2,070
-5 Eg2 52,670,000& * 11% 5,794
201 LBt | 269,204 269, 180 24
01 AP 22| H| 1,800 1,440 360
OM%E=X SA2eld 2tAH|
2,500& * 4% * 180 1,800
02 22244l 267,404 267,740 A 336
QU2 A=l 1,8443 * 400 = 3L » 180 3,984
OA&ZH SXbl 7,920
- 0l F DI 60,000 = 408 = 9¥ 2,160
-WFoNY 2 55 100,0008 * 404 ~ 9& 3,600
—Ot& 3 2 5& 180,000& * 4% x 33| 2,160
OEEXNF? %22 B2AMY AE0E 22
70€ % 10,000 * 365 255,500
202 044 3,000 5,800 A 2,800
01 2L Y| 3,000 5,800 A 2,800
Os&ENYg 9FRF=& | 3,000
203 &R F&d| 3,000 3,000 0
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- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
03 AIEH =X H 2 F XY 3,000 3,000 0
OHEZ2AI & YRFAH| 3,000
401 Al HI L E0HHI 730,020 696,500 33,520
01 Al&H| 710,500 680,500 30,000
Ot A 221004 )
3,000,000& = 10002 30,000
OJistitdl 2= A
50,000,000 * 2J0 A 100,000
OsgaLALANE 2sES 400,000
OsA®K B, B2 (1001A) 100,000
OANd Ma=Xl dYUtEALG A 30,000
Osgda 2™ HH|(GSXAH) ALY 50,500
03 AlIEE2HH| 19,520 16,000 3,520
Os92422| A/ 5,000
Ostolith bl st =Z2=2&H AdXs
605,000 * 8 SHES » 3Y 14,520
403 XX SHHS K201 & 200,000 0 200,000
02 BII2S 0 CHSHCHEH AFS HI 200,000 0 200,000
OWAE Mz£=Xl HdlZ2AH(L=50m) 200,000
405 XHAHFEEHI 2,000 0 2,000
01 XAt 2 E F S| 2,000 0 2,000
OMd=X EHIJIE WHI 7
500,000 = 4CH 2,000
ok Hi =& 22l 326,060 320, 180 5,880
101 Q124 H] 53,816 48,000 5,816
04 JI2ZtHIZ22NEE S 53,816 48,000 5,816
Obtfz=& 2tel o182 53,816
201 et 70,244 70,180 64
01 AP 22| H| 40,144 40,080 64
Obl£=2 &I otd 2 AbH| 516,000 * 400 A 2,064
Ofj+= FJjotm22 ez
340,000€ * 140HA = 8IHE 38,080
02 E2=2=2%H| 30,100 30, 100 0
Oti=& &3
250,000€ = 140HA ~ 7€ 24,500
O3l Adld| 60,000 * 60CH 3,600
Ostolltidl 2==FHl SFUH
2,000,000& = 14l 2,000
307 giztol A 20,000 20,000 0
02 QI2tAAMAIE E =X 20,000 20,000 0
OZClH 2IEX2(200A) 20,000
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SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
401 AlEHIZL £ 0HY| 182,000 182,000 0
01 Al&H| 180,000 180,000 0
O £=2& JIAHEI| 242 AHH| 180,000
03 Al 201 Y| 2,000 2,000 0
O 4=& 22| A2 2,000
242 EH| 347,560 140,000 207,560
& 30,000
Al 317,560
401 AlEHI 2L 2 0HY| 347,560 140,000 207,560
o= 30,000
Al 317,560
01 Al&H| 300,000 100,000 200,000
OXAEXNFP 242 FHIZ2AHL=150m) 100,000
o=} 30,000
Al 70,000
08.25 =52 MolEFRAIY(ESE 2 =2
Q2 7A) 200,000
03 A2 HH]| 47,560 40,000 7,560
o242 =x2HH & =-4FHl X2 (L=60k
m) 605,000€ ~ 8Jf S¥HS » 9Y 43,560
OZ2tH4EZZHIAIYE AlE&20d] 4,000
St2sHES A Stil=2 &3] 147,000 232,000 A 85,000
403 XX SHHS K201 & 147,000 232,000 A 85,000
02 SIS0 CHSHCHEH AFS I 147,000 232,000 A 85,000
Oos2ti4+2 &==HH & =& (L=110km) 60,000
OZN SR X 22t 37,000
O2Hl£+2 HESALY 50,000
AR23=2 SleXels s8ES MHOISAY 500,000 0 500,000
401 AlEHIZL 2 0HY| 500,000 0 500,000
01 Al&H| 480,000 0 480,000
O&KRST=2 dlx=xelsx sZE4 MOIZSA 480,000
02 2elbl 20,000 0 20,000
OXRSS ot=HHel s MOISAH 20,000
=clAlE HE AL 525,000 240,000 285,000
Xl 420,000
= 32,200
Al 72,800
ZAH2 M=K HH Z2A 250,000 0 250,000
Xl 200,000
o= 15,000
Al 35,000
403 XX SHHS K201 A 250,000 0 250,000
Xl 200,000




SN AL D
HE: sI|BAE F

SRl o AME HESA Y (9 ® =)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 15,000
Al 35,000
02 S| 2SO CHSHTHE AL B 250,000 0 250,000
O=H M=K ZHISAH(L=120m) 250,000
X 200,000
S 15,000
Al 35,000
=gl U 3At 125,000 120,000 5,000
Xl 100,000
< 8,200
Al 16,800
401 Al HI R 201 I 125,000 120,000 5,000
Xl 100,000
< 8,200
Al 16,800
01 A& tI 125,000 120,000 5,000
OEgtia==2 FHl3A(L=1.7kn) 125,000
Xl 100,000
< 8,200
Al 16,800
gell M=Xl U3 A 150,000 120,000 30,000
Xl 120,000
< 9,000
Al 21,000
401 Al HIZ 201 8] 150,000 120,000 30,000
Xl 120,000
< 9,000
Al 21,000
01 A& HI 150,000 120,000 30,000
Ogelt M=a=Xl &HlZSAHL=70m) 150,000
X 120,000
< 9,000
Al 21,000
SE ZUHAE 28 7,335,300 6,266,300 1,069,000
Xl 2,263,000
Al 5,072,300
=& FFIIE 2= 3,881,000 4,242,000 A 361,000
Xl 2,263,000
Al 1,618,000
SHEEFAA OS2 SEFHIAY 1,621,000 1,542,000 79,000
Xl 1,133,000
Al 488,000
202 odl 2,000 2,000 0
01 SLHOIYI 2,000 2,000 0
O=2&H 282 HRFA Kl 2,000
403 MHXSHHSA=0l& 1,619,000 1,530,000 89,000
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BUNE 28
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
Xl 1,133,000
Al 486,000
02 S| 2SO CHSHTHE AL B 1,619,000 1,530,000 89,000
OSZHAA DISSEIHAMY(EE Sat) 1,619,000
X 1,133,000
Al 486,000
& &2 (Healing) OS2+ = | 2,260,000 2,700,000 A 440,000
Xl 1,130,000
Al 1,130,000
403 A X EHHSH20IA 2,260,000 2,700,000 A 440,000
Xl 1,130,000
Al 1,130,000
02 S| 2 S0il CHSHCH & A Bl 2,260,000 2,700,000 A 440,000
OFHAS ISZETUIALY(ZH 2Y0S ©
£01) 2,260,000
X 1,130,000
Al 1,130,000
A2 FR=F ALY 3,454,300 2,024,300 1,430,000
HYEEEZ SA&c 869,000 669,000 200,000
35 & =S 5,000 5,000 0
01 =8 5,000 5,000 0
ORE0IS= erad2As s S 5,000
401 Al HIZ 201 I 864,000 664,000 200,000
01 A& HI 850,000 650,000 200,000
OnEEXN 243 10,000,000& * 10Z X 100,000
Otz & wElg 2=l
20,000,000& = 3574 & 700,000
Oung HEIH 29 5,000,000& * 1094 A& 50,000
03 Al 2 THHI 14,000 14,000 0
OEXNZE & =22 (302X) 10,000
OHYEAEZ sXl&c Ad20Y] 4,000
ATRR XN 1,003,000 203,000 800,000
401 AIEHI L 2 CHEI 803,000 153,000 650,000
01 Al 800,000 150,000 650, 000
Odg a&0tS 22 &I (L=370m) 300,000
O=44 gz L 2HEHI(L=150m) 300,000
O4ds EXN0tS AW THIHA (L=6m) 200,000
03 AlE 2 THHI 3,000 3,000 0
OAEZAL Al R0 3,000
403 MHXISHHE X201 & 200,000 50,000 150,000
02 212 S 0fl CH 0 8 A B 200,000 50,000 150,000
ORI MULIE =2 E (L=2.4km) 200,000
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- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
A480|s 22l 10,300 10,300 0
201 LBt 9 ]| 7,300 7,300 0
01 AP 22| H| 7,300 7,300 0]
OJlzsn= WMAMHEl 5,000& » 150 * 23] 1,500
OLAXNERAE A&
100,000 = 10¥ * 53| 5,000
OJlsus 2AISE 400,000& = 23] 800
202 o4 | 3,000 3,000 0
01 2L I 3,000 3,000 0
OAHd&EI= =80 H| 3,000
ARE FOI=AALS (504E) 1,272,000 1,142,000 130,000
201 LBt | 8,000 8,000 0
01 AP 22| d| 8,000 8,000 0
OHUEX ARA 0l SIAHE =2 8,000
401 Al HI L £ 0HHI 1,264,000 1,134,000 130,000
01 Al& H| 1,260,000 1,130,000 130,000
ontser & Xz MU (11HA) 550,000
2 -2 HH[(50HA) 340,000
O3H ZHI(THA) 350,000
OEXNZH & =&4+42 (502 X) 20,000
03 Al 20| 4,000 4,000 0
OAl&E S0t 4,000
e =88z e 300,000 0 300,000
401 Al HI L 2 0HHI 300,000 0 300,000
01 A& HI 300,000 0 300,000
Olls =302 3 &2 M4 (L=651m) 300,000
NEWE &= 43,482 42,330 1,152
=S X AE| XZA 43,482 42,330 1,152
DENSEF A2 2STA A e A 15,000 15,000 0
201 et | 8,000 8,000 0
01 AP 2t 2| bl 8,000 8,000 0
O=Zg M s 2 8,000
202 04| 7,000 7,000 0
01 2Ll 7,000 7,000 0
OALHH HRE=X (| 7,000
SEEAMAMELE A2 2T AEIXZ A 28,482 27,330 1,152
101 2121 4| 24,482 23,330 1,152
04 JIZtHIZ22XNSE S 24,482 23,330 1,152
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27
YW =5
S AEH EA

- _ _ RE]
CEB - HS(3H) - HBAY - B Ol At o %@ﬁ HRE2
O=ZS M Hel8d & [HER A AL QI
29 24,482
-J=3 1,158,000& = 18 x 12& 13,896
- J| Y= 1,158,0008 * 427| 4,632
- xEAaZ 69,050 * 18 » 7¢ 484
-S4l 130,000& = 1Y = 128 1,560
- HE S|
1,158,000& = 0.6 ~ 1&H = 23] 1,390
- WEB XY 130,000 = 19 » 12&€ 1,560
-JIE4LE 80,000& = 1Y = 128 960
201 gEt24d| 4,000 4,000 0
01 AFR2 22| H| 4,000 4,000 0
O=Zg M s 2 200,000& * 20 X| 4,000
olde NRIIs 23t 10,491,375 9,642,159 849,216
= 5,488,000
& 1,644,997
Al 3,358,378
T AIGHE A HI 102,200 82,200 20,000
AotE A 102,200 82,200 20,000
201 B9 22,200 22,200 0
02 2224 H| 22,200 22,200 0
Odlietd XHE | 22 (500=F)
,500& + 500 * 128 15,000
OUEd 84 I3
500,000& » 12& 6,000
O806td XHE HIIRS(40F)
2,5008 * 40F ~ 128 1,200
401 AlEHI 2L 201 Y| 80,000 60,000 20,000
01 Al&H| 80,000 60,000 20,000
OEXMGHEAEBI(ZAIGHE 5IHA) 80,000
2 H Sl A H| 893,000 795,000 98,000
= 125,000
Al 768,000
ol |Xl&e 498,000 400,000 98,000
= 125,000
Al 373,000
401 AlEHIZL 2 0HY| 498,000 350,000 148,000
= 125,000
Al 373,000
01 Al&H| 498,000 350,000 148,000
Ousad X A H| 2 AH(L=100m) 200,000
Ostedi+=& s AH(BIHA) 73,000
Obotd KXl &2 177, 4km) 185,000




A R =y
M ot NRIIs &2
©hel: e SR EH (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 705,000
Al 80,000
OXlgotd HEX & Fhl 40,000
< 20,000
Al 20,000
StIsE3 A =& |2 395,000 395,000 0
403 XIS E X201 H 395,000 395,000 0
02 BII 2SOl CHEHCH S AFR I 395,000 395,000 0
OZ=2, Oleh, AotHl+~%& <IE 22l 55,000
Oetdi+=& A2l 340,000
SF & XH ol Ol 2 9,496,175 8,764,959 731,216
= 5,488,000
< 1,519,997
Al 2,488,178
ot JIE M 2 MY 25 FHl 1,059,512 924,959 134,553
101 124 dl 327,320 303,242 24,078
04 D12t Z22XREES 327,320 303,242 24,078
OotEAEF X222 (HABHE) 16,590
-Jl2= 70,000& = 1&¥ = 190 13,300
-—R=5gsE 70,0003 = 1 « 38=F 2,660
RPN E =R =y 70,0003 * 1H » 9 630
OStEAE X 2|2 (2@ 22H) 299,805
-Jles 57,5003 * 22% = 190 240,350
- R=25gsE 57,500 * 22% x 38= 48,070
RPN E =R =y 57,5003 * 22H » 9¥ 11,385
Osta 2teld 2tAlHl 2,500& = 23% = 190 10,925
201 LBt 66,692 77,617 A 10,925
01 At 22l 13,000 23,925 210,925
OotdEX® Hyl & & HAE
500,000& = 100H & 5,000
OHERX & IR =&, 28 S =2
200,000& = 40Z X 8,000
02 2324l 53,692 53,692 0
O =l 18,032
— 02l 2,000& » 200H = 3L » 15 = 8& 14,400
—IMI1 2,000 » 104 = 20L » 102 = 8 3,200
-dEsE 2,000& = 30H = 3L » 3¢ » 8 432
OA&EHl Sl 35,660
—0HI A 15 60,000& = 2104 » 83 10,080
—0HFIE 2 53 100,000& = 21CH » 8& 16,800
—otd3s 2 58 180,000& = 23% * 23| 8,280
— It2 0| 500,000& = 1CH = 13l 500
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202 o4dl 3,500 2,100 1,400
01 = LH o4 1l 3,500 2,100 1,400
OdtE 2elAlYE 2= 0] 3,500
401 AIEHI L 20 660,000 540,000 120,000
01 A& HI 600,000 500,000 100,000
O=FH StEJIS R HHIAFY (31902 /177.4km) 200,000
OME 212 HBIBI (3102 /177 . 4km) 400,000
03 A& =2 THHI 60,000 40,000 20,000
OX&otd ALY AIZR0H 10,000
OXoiCHEl ot 2= &Hl &Hl Xz
500,000& = 100CH 50,000
405 XHobF S HI 2,000 2,000 0
01 At EZFH S 2,000 2,000 0
OMeg ZSHI18 WA 7 500,000& * 4CH 2,000
Ot& THOHOIE AFS 300,000 500,000 A 200,000
= 200,000
Al 100,000
401 Al HIZ 2018 300,000 500,000 A 200,000
= 200,000
Al 100,000
01 A& HI 300,000 500,000 A200,000
OO Xt& O XtKl+ of & &l (L=700m) 200,000
< 100,000
Al 100,000
O22& 232X 7 &t& & Hl(L=150m) 100,000
< 100,000
MEHOHE A ALY 3,886,663 4,100,000 A 213,337
= 2,488,000
< 669,997
Al 728,666
401 A& HIZ 201 Y] 3,886,663 4,100,000 A 213,337
= 2,488,000
= 669,997
Al 728,666
01 A& HI 3,876,163 3,833,000 43,163
OUEA MESIAE ZLAY 3,876,163
= 2,481,700
= 668,317
Al 726,146
02 2eltl 500 258,000 A257,500
OUEA MEHSHAE &AM Zeld] 500
= 300
< 80
Al 120
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